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01 At 22|l 1,160 1,160 0
OglrEatel AR/ 1,160,000& 1,160
[ 1,160
207 ARl 7,680 7,680 0
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201 Ler23| 1,113,553 938,083 175,470
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02 S3=gHl 21,930 22,300 A370
OWIILEE BA S3E2EH| 21,930
o=ZZEH M =8
1,930,000 1,930
o AlIZEH| /X 20,000,000& 20,000
202 048l 4,750 4,750
01 2L AL 4,750 4,750
OUDIHHEAIE S AR 0l
4,750,000 4,750
207 AR 50,000 50,000
03 Al 28I 50,000 50,000

_15_




SN EEEens
I CABE 22
el SZ2CIAAE 2 (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OASHLEX},ADE £ 2
50,000,000& 50,000
405 KHoHFSHI 30,000 14,000 16,000
01 ML ESFSHI 30,000 14,000 16,000
OadEEHH 30,000,000 30,000
HEHE LT A 512,576 610,476 /97,900
201 2= 73,176 73,176 0
01 At22t2l] 5,176 5,176 0
Oget=ZH| 1,600,000& 1,600
O=gt| 3,576,000& 3,576
2 s5=34l 68,000 68,000 0
odsad Stz 200,000 200
OFZEH ETaM =5
27,000,000 27,000
OAlZ &I Xl 40,800,000 40,800
202 04l 10,800 10,800
01 2LHoIH 10,800 10,800
Odgatd g2+8 oyl
10,800,000 10,800
203 2=l 1,500 1,500
03 A=A PR FZ| 1,500 1,500
O&USIIE, o5 2d HRFN
1,500,000& 1,500
206 MH=H| 308,300 313,400 25,100
01 MHZH| 308,300 313,400 A5,100
Odeatd @I ZA HEHI 308,300
cANZMFASI S M 7L
242,300,000 242,300
oHZ=ItA Y 50,000,000& 50,000
SHAUAFZHI| S YRS
16,000,000 16,000
207 ARl 92,800 92,800
03 A& 32t 92,800 92,800
OAle, =X ARE S 92,800,000& 92,800
405 KHoHF S| 26,000 118,800 /92,800
01 ML ESFSHI 26,000 118,800 92,800
Ox=+HMZEX 26,000,000 26,000
JIZUDIANAE 22 184,152 185,812 28,340
201 2= 63,432 63,492 260
01 At22t2l] 5,052 5,052 0
Oget=ZH| 2,540,000 2,540
Or==1:] 2,512,000& 2,512
2 s5=34l 58,380 58,440 260
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SN EEEens
B cAE 22
Chol: BABRIAAE 2 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=32 3323 % MAl
1,330,002 1,330
OBASHID| FEAA 248
2,940,000 2,940
OAlIZA7EH| S| 54,110,000& 54,110
202 04l 4,500 4,500
01 2LHoIH 4,500 4,500
OJI=UIIed ZAE R =
4,500,000& 4,500
206 M=l 36,720 36,720
01 M=4l 36,720 36,720
OJ|=dsl2d E&E0ta S 78
36,720,000 36,720
207 AR 48,000 51,100 A3,100
03 Al 328 48,000 51,100 A3,100
OJI=UII BALE A, =X A2E 7Y
48,000,000 48,000
405 AHaHE = 31,500 31,500
01 ML ESFSHI 31,500 31,500
OllZE € OlttatEa EHAAYE 7Y
31,500,000 31,500
CIOIEEIAI AR 2 307,870 406,084 N98,214
201 et 3| 163,370 161,584 1,786
01 At22t2l] 9,000 9,000 0
Oget=ZH] 6,800,000 6.800
@r=1=1:] 2,200,000 2,200
02 s5=34l 154,370 152,584 1,786
O332= % HAl 3,240
cHBIHZ(NAZRE, S3553Y)
3,240,000& 3,240
OAlZ EHIs Xl 151,130
oAEEH 2 AIEF I
28,000,000& 28,000
oE0IREAT FAE4H]
17,000,000 17,000
o0C/EC2 &I KXIE=H]
12,000,000 12,000
oI ZNTHEIAAY RAIE 44|
68,630,000& 68,630
oy S3H=3Y FAESH]
25,500,000 25,500
202 04| 3,500 3,500
01 =LHOLI 3,500 3,500
OtoIgtd A7 PRl
3,500,000& 3,500
206 M=l 64,000 64,000 0
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SN PSR
M CAlE 2
Chol: BABRIAAE 2 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 X2H 64,000 64,000 0
OANZMH, ZAOR S T2 7
64,000,000 64,000
207 ARl 77,000 77,000
R ERET 77,000 77,000
OAlSH, 2T 2 428 29
77,000,000 77,000
ABEY XA 952,162 1,218,262 A266,100
= 106,500
Al 845,662
SHes odd XA 156,040 156,040 0
201 2egh=3| 47,340 47,340
01 AFR2telHl 7,340 7,340
Ogef=d dit+=ZH| 1,500,000& 1,500
OJlzge=d Sl 3,840,000& 3,840
OstB=20F st=3lo F4 2,000,000& 2,000
02 s3=gHl 40,000 40,000 0
OAlZ EHIs Xl 40,000,000 40,000
202 04| 7,200 7,200
01 2LHoIH 7,200 7,200
ONZMH L FARIT 238
7,200,000& 7,200
203 gR=| 1,500 1,500
03 A=A PR FA| 1,500 1,500
O=22% o 238t 1,500,000 1,500
206 M=l 20,000 20,000
01 M= HI 20,000 20,000
OYE=sS & US0ISAE M S
20,000,000& 20,000
207 ARl 80,000 80,000
03 Alg 32t 80,000 80,000
OANE24E HES, AL A Ot
50,000,000& 50,000
OANzE4E 223 30,000,000 30,000
£ % HII=Z &tdd XA 98,470 98,470 0
201 =3 28,830 28,830
01 At22t2l] 4,830 4,830
Oget=ZH| 400,000 400
OHPIZ | Xl 1,930,000& 1,930
Oge=4d Sl 2,500,000& 2,500
02 S3=gHl 24,000 24,000 0
OAI2&bBI= X 24,000,000 24,000
202 04| 2,640 2,640 0
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24 ERsED
Hu: CAE 2l
el BFotdd XA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 2,640 2,640 0
OELHIIZ BAF & A=A
2,640,000& 2,640
206 T2l 17,000 17,000
01 b 17,000 17,000
Somy=omEy 2 A
22F 17,000,000& 17,000
207 ARl 50,000 50,000
03 Al 328 50,000 50,000
OAlZ, =X, 288 S 50,000,000 50,000
ofotd =&atd 2e| 266,512 566,612 290,100
201 Ler23| 108,932 108,932 0
01 At2teltl 16,188 16,188 0
Ogegt+=ZHI 2,200,000& 2,200
O=gtl 4,688,000& 4,688
ogxz 9,300,000& 9,300
2 S5=24g4l 92,744 92,744 0
OFEZEF4L EER= 5,500,000& 5,500
OAld &8l |XI2=H 30,000,000& 30,000
OFE=34 RAUEs 57,244,000 57,244
202 04| 8,000 8,000
01 =LHOHI 8,000 8,000
Ooll - o™ PRl 8,000,000& 8,000
206 Tl 56,000 56,000
IEET 56,000 56,000
O+E=HA 22 U 2
56,000,000& 56,000
207 ARl 83,680 83,680
03 Al 2HI 83,680 83,680
OAle, =X 228 S 83,680,000 83,680
405 AtatE = 9,900 300,000 A290,100
01 TR =S FSHI 9,900 300,000 290,100
Odli+= ZAls 22 &l I
9,900,000& 9,900
g5+ S 106,500 146,500 240,000
201 er23 | 33,500 33,500 0
01 At2teltl 3,500 3,500 0
(@)= st =l 500,000 500
Oge=8 Sl 3,000,000& 3,000
02 s3=gHl 30,000 30,000 0
OAIZZHl |XId| 30,000,000& 30,000
202 04| 3,000 3,000
01 SLHoIH 3,000 3,000
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SN PSR
mr: CAE 22
el BFotdd XA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Obl= & HFZAL A 3,000,000 3,000
207 ARl 70,000 70,000
03 Al 2HI 70,000 70,000
OAle, =X A28 S 70,000,000 70,000
B MEH AL 111,640 118,640 AT7,000
201 fer=3| 15,640 15,640 0
01 At 22|l 5,640 5,640 0
Oget=EH| 500,000& 500
OgR+d S 2,640,000 2,640
O=Z0Id4= HII=SXclbI
2,500,000& 2,500
02 S3=gHl 10,000 10,000 0
OAIZZ&Hl St 10,000,000 10,000
202 04| 3,000 3,000
01 =LHOLI 3,000 3,000
OAIEMF & ZAIHT =
3,000,000& 3,000
206 Tl 28,000 28,000
01 WEHI 28,000 28,000
OOIMSZNE A% U 4DE
20,000,000 20,000
OHMEHSEZAL SHE A0
8,000,000& 8,000
207 ARl 65,000 65,000
03 Al =2t 65,000 65,000
OxZAMNE A, =AHLAEE S
65,000,000 65,000
28 20k AIgZ AL ZMA Hetd gt 25 Alg 168,000 142,000 16,000
= 79,000
Al 79,000
101 21A4H| 49,500 48,500 1,000
= 24,750
Al 24,750
M ORNZZ2NSE S 49,500 48,500 1,000
O%F S =22l 49,500,000 49,500
= 24,750
Al 24,750
201 er23| 64,000 53,500 10,500
= 32,000
Al 32,000
01 AtR2t2|HI 6,000 2,000 4,000
Odgt==H| 6,000,000& 6,000
= 3,000




SN PSR
mr: CAE 22
Rl SEetdEE AL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,000
02 S3=gHl 58,000 51,500 6,500
OAN&INE 2 BT a2l HUISX
33,000,0002 33,000
= 16,500
Al 16,500
OagdHl W === 25,000,000& 25,000
= 12,500
Al 12,500
202 04| 24,500 20,000 4,500
= 12,250
Al 12,250
01 =LHOLI 20,000 20,000 0
O Hes 248 0] S
20,000,000 20,000
= 10,000
Al 10,000
03 2220 | 4,500 0 4,500
O HNgtd 75 HZDS
4,500,000 4,500
= 2,250
Al 2,250
207 ARl 20,000 20,000 0
= 10,000
Al 10,000
03 A& 328 20,000 20,000 0
Odk2el 2528 4028 5 7¢
20,000,000& 20,000
= 10,000
Al 10,000
Ed Z0F AIEZAtE IHA HErd JI8 = A 55,000 0 55,000
X2)
= 27,500
Al 27,500
405 AHAHE S 55,000 0 55,000
= 27,500
Al 27,500
01 It =S F = 55,000 0 55,000
OJIEt=E24] 20,000,000& 20,000
= 10,000
Al 10,000
Od2J ==& 12,000,000& 12,000
= 6,000
Al 6,000
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A AR
mr: CAE 22
&Pl SHEA XA EEED
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O&=4] e 3,000,000& 3,000
= 1,500
Al 1,500
OaXE0laE 15,000,000 15,000
= 7,500
Al 7,500
O==2012530| 5,000,000& 5,000
= 2,500
Al 2,500
IEL AL 1,562,269 1,402,405 159,864
= 301,261
| 164,156
Al 1,096,852
NELAAE F 530,975 680,823 89,848
= 193,961
Al 397,014
IISHgY gdate| 188,194 211,574 A23,380
201 L2 | 48,058 50,118 A2,060
01 AtR2eltl 21,920 21,920 0
OJIEsg9 8 | 11,520,000& 11,520
O&3l 4 g s &Il 1,200,000& 1,200
OJI=¢9 2t golsl |7 =
2,000,000& 2,000
OJIEYY gf -8 =gl
7,200,000 7,200
02 324l 26,138 28,198 22,060
Oalgdd & ASEH| RAIY|
17,500,000 17,500
O332a 2 Al |4
8,638,000& 8,633
202 04d| 12,236 12,236
01 =LHO4 L] 12,236 12,236
ONNEFHEFC U goigie
12,236,000& 12,236
203 R &I 1,500 1,500
03 A=A =XY| 1,500 1,500
OJI=&2gueas 1,500,000& 1,500
206 =4l 15,500 17,900 A2,400
01 M=l 15,500 17,900 A2,400
(OFII=1-14e1.1 5,400,000& 5,400
O™IARE A2=5A%8 S 7,100,000& 7,100
Odlgs2 2 M2 S
3,000,000& 3,000
207 AR HI 110,000 110,000 0




SN PABAADE
LIESTE NI
chel: JiEEolAlY XX (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Al | 110,000 10,000 0
OATAIS Y 422 S 3¢
110,000,000& 110,000
301 EtE2 NS 900 900
14 0Bt 243 900 900
OJ=dgE A4XME ol ===
900,000& 900
Hges s X 274,379 337,449 263,070
= 169,929
Al 114,450
201 er23| 4,000 3,000 1,000
= 2,000
Al 2,000
01 At2teltl 4,000 3,000 1,000
OHiSE SMRLA DLIEZ AR
4,000,000 4,000
= 2,000
Al 2,000
206 M=H| 270,379 334,449 A64,070
= 157,929
Al 112,450
01 MHZH| 270,379 334,449 /64,070
OJ=dgdgdd & JI8EA
144,678,000& 144,678
= 88,228
Al 56,450
OxoiHa=S(BSE) MHAE
24,000,000& 24,000
= 12,000
Al 12,000
OJ=EESA 13,701,000& 13,701
= 13,701
OJts2Y ZLIHE dA
24,000,000 24,000
= 12,000
Al 12,000
OHXIZEYE ZLIHE BA
30,000,000 30,000
= 15,000
Al 15,000
Otteis= gdiud 2LIEE
34,000,000& 34,000
= 17,000
Al 17,000
FIIELAAY =N 71,202 51,800 19,402

_23_




SN PABAADE
LIESTE NI
chel: JiEEolAlY XX (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,432
Al 65,770
101 @124H| 21,802 0 21,802
= 5,432
Al 16,370
MU IIRIMZZENSES 21,802 0 21,802
OJINZ22Ns 2= 21,802,000& 21,802
= 5,432
Al 16,370
201 et 3| 9,350 9,350
01 At22t2l] 6,086 6.086
Ostgroipioas e
1,760,000& 1,760
OBIEEEPISHIE =1
4,326,000& 4,326
02 S3=gHl 3,264 3,264 0
Odg & 9= FHl KX
1,825,000& 1,825
OZ33x2= & AEKRXH| 1,439,000& 1,439
202 04l 6.830 6.830
01 2LHoIH 6,830 6,830
Ostdage+d oy 6,830,000 6,830
206 =4 9,000 9,000
01 b 9,000 9,000
OSIILATIAASOE S
9,000,000& 9,000
207 AR 24,220 26,620 A2,400
03 Al 2t 24,220 26,620 22,400
OJIEHSEHN & A2 NS, =
s 24,220,000 24,220
HAFH S K& 57,200 80,000 A22,800
= 28,600
Al 28,600
405 KHoHF S| 57,200 80,000 A22,800
= 28,600
Al 28,600
01 TR ESFSHI 57,200 80,000 A22,800
OXssiar==&H| 50,000,000 50,000
= 25,000
Al 25,000
O#=0I1ZJtoct 7,200,000 7,200
= 3,600
Al 3,600
=42 AR e 688,960 408,215 280,745
— 24 —




SN PABAADE
LIESTENTEONE
ol ZA2 AUA L KT (cho):
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 22,600
Jl 164,156
Al 502,204
SMESA K Flda 100,418 100,418 0
201 et 3| 15,738 15,738 0
01 At22t2l] 13,370 13,370
Ol Rd+2H| 4,012,000 4,012
O==ZAZ WsHl S 1,798,000& 1,798
OF4SAA L SHAA 22|
7,560,000& 7,560
02 S3=gHl 2,368 2,368 0
OSNMT NEFH RTHI S
2,308,000 2,308
OFUMILSEM S AIBE 60,0002 60
202 04l 17,680 17,680
NETEE 3,280 3,280
OBASAA L AMBR| 28
3,280,000& 3,280
02 A0 14,400 14,400 0
OFatE S A2 A0 14,400,000& 14,400
207 AR 67,000 67,000
03 Al 328 67,000 67,000
OFA2ZAL A, =X, A28 S 78
67,000,000 67,000
SASAMZAD |2 28] XA 108,045 109,840 A1,795
Jl 42,756
Al 65,289
101 @12A4H| 24,255 23,432 823
Jl 9,240
Al 15,015
04 JIZtN2Z2XNS 2= 24,255 23,432 823
OFFZAL 23 o1HH| (1Y)
24,255,000 24,255
7l 9,240
Al 15,015
201 Ler23| 10,000 8,060 1,940
Jl 4,000
Al 6,000
02 S3=gHl 10,000 8,060 1,940
OFUSTAMEH FXE= S
10,000,000& 10,000
Il 4,000
Al 6,000
206 MH=H| 73,790 78,348 A\4,558
— 25 —




SN PABAADE
LIESTENTEONE
ol FME SA R KE (Sl &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 29,516
Al 44,274
73,790 78,348 N4,558
ZAH THZHI 57,005,000 57,006
Jl 22,802
Al 34,203
MR S ZA TR
16,785,000& 16,785
Il 6,714
Al 10,071
[MAAD 2t HALEHIRE X~ 300,000 17,500 282,500
Il 120,000
Al 180,000
405 AHaHE = 300,000 17,500 282,500
Jl 120,000
180,000
01 ML ESFSHI 300,000 17,500 282,500
Olld=sd 2g=4)|
300,000,000 300,000
Il 120,000
Al 180,000
=02 =H 2 MZHI X2 45,200 45,200 0
= 22,600
Al 22,600
206 M=l 45,200 45,200 0
= 22,600
Al 22,600
01 M=4l 45,200 45,200 0
O=Jt RSFL=ZA M|
45,200,000& 45,200
= 22,600
Al 22,600
ZAE At 2,800 2,760 40
Jl 1,400
Al 1,400
206 M=l 2,800 2,760 40
Jl 1,400
Al 1,400
01 MZH| 2,800 2,760 40
OZAMESEZA =8| 2,800,000& 2,800
Jl 1,400
Al 1,400
FSEU=E A=A 132,497 132,497
— 26 —




SN PABAADE
. JIEYAAME
el A2 A Y XIS (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 75,497 75,497
01 At2teltl 6,137 6,137
OJlzge=+d +=SH| 2,745,000& 2,745
Ostal & u=s s Il 800,000 800
O=sxit=s M = 2,592,000& 2,592
02 35244l 69,360 69,360 0
OAlg | |AI2=H|
69,360,000 69,360
202 04l 2,000 2,000
01 =LHA LI 2,000 2,000
ORS=L= ZAL 0 2,000,000& 2,000
207 ARl 55,000 55,000
03 Al 2HI 55,000 55,000
OFSFLUSZAHI 55,000,000 55,000
Oris=Sx2e] MARS 282,334 313,367 A31,033
= 84,700
Al 197,634
OrisSErx2eldy 22 282,334 266,667 15,667
= 84,700
Al 197,634
101 @124H| 125,290 121,715 3,575
= 37,587
Al 87,703
04 JIZtNZ22 NS+ 125,290 121,715 3,575
OME2eIAb S(4Y) 121,770,0002 121,770
= 36,531
Al 85,239
O=&H1(4Y) 2,720,000& 2,720
= 816
Al 1,904
O1l=H(4Y) 800,000 800
= 240
Al 560
201 fer= 3| 93,900 91,112 2,788
= 28,170
Al 65,730
01 AtR2t2l] 35,920 33,842 2,078
Oget=ZH| 33,020,000 33,020
= 9,906
Al 23,114
O=gH| 2,300,000& 2,300
= 690
Al 1,610
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SN PABAADE
LIESTENTENE
oRl: OfsSEX2el MARS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oul =l 600,000 600
= 180
Al 420
02 S3=gHl 57,980 57,270 710
ORBRI ¥ AILEH S
57,980,000 57,980
= 17,3%
Al 40,586
202 04l 4,320 5,760 A1,440
= 1,296
Al 3,024
01 =LHAHI 4,320 5,760 1,440
OO0rdSZSHIE =048l 4,320,000 4,320
= 1,296
Al 3,024
206 M=H| 35,000 28,000 7,000
= 10,500
Al 24,500
01 =l 35,000 28,000 7,000
OAZ & %% - 8% S 7Y
35,000,000& 35,000
= 10,500
Al 24,500
207 ARl 23,824 20,080 3,744
= 7,147
Al 16,677
03 AlZ & =2H| 23,824 20,080 3,744
OB L A2E S 2
23,824,000 23,824
= 7,147
Al 16,677
HH 23 14,325,582 15,294,324 A968,742
= 48,018
Jl 72,419
Al 14,205,145
QIARIH(BAEHATRH) 14,056,284 14,491,615 A\435,331
= 48,018
Il 72,419
Al 13,935,847
el 24| 13,547,290 13,944,050 39,760
101 @124H| 13,400,183 13,876,759 A476,576
01 &2 12,604,428 13,124,832 A520,404
OJlZz=s 8,980,725
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SA: EASAD
B sm2oAY|
Eel: HA2SH(EASZARH) (Ete &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o4g 96,030,000 96,030
=bg 170,108,000& 170,108
S 451,818,000& 451,818
o7s 617,549,000 617,549
o8g 79,496,000 79,49%6
ox gt 3,177,804,000& 3,177,804
o HA 4,387,920,000& 4,387,920
o832+ 373,809,000 373,809
O=0t52l=g 153,000
oF0tsNsE 153,000,000 163,000
OE=g 118,800
oHi A 48,000,000 48,000
oZH|& 7,200,000 7,200
o EHIH(RHM) 25,200,000 25,200
o ZEHIH(EM) 25,200,000& 25,200
o ZHIS (M) 13,200,000 13,200
Od2+ditits 89,400
=26E 0f& 4,680,000 4,680
=20E-26E 0]t 34,320,000 34,320
=158-20&= DIt 24,000,000& 24,000
=10&-15& 0|2t 14,400,000 14,400
=5E-10 0O1¢t 12,000,000& 12,000
OoRg2e+¢ 96,480
o=5 93,600,000& 93,600
o33 2,880,000& 2,880
ole=g 82,495
ob= 8,234,000& 8,234
org 9,495,000 9,4%
o AHATAL 64,766,000& 64,766
OS+ge=g 249,240
oo ZUReE 60,000,000 60,000
oSExXZ2RE 1,800,000& 1,800
oA (EFZHIRS
9,720,000& 9,720
cUAAR Y 600,000 600
oHPAI LG 105,600,000 105,600
oSxA2eE 30,000,000 30,000
oHld2R+e 34,560,000 34,560
oRZHAY 1,200,000& 1,200
=Jls8E+E(6,720I5t)
2,520,000 2,520
=J|l=dE+¢(8=20Iat) 720,000& 720
oJ|=dEsgits 1,800,000& 1,800
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SN BAEHeD
;. ¥ 233
CHl: OISl (BABAIT
S A - BRI - HRA - BES e
oJ|=dEsgits 720,000 720
Oxz=z22=¢ 894,972
o UBHA(53) 13,047,000& 13,047
oYX (62) 50,074,000 50,074
o UBHR(72) 105,539,000 105,539
oAbt (82) 13,536,000& 13,536
ox gt 176,512,0002 176,512
oA A 536,264,000 536,264
OZ A ZAMH| 282,240,000 282,240
OE &=l 625,632,000 625,632
OS2 4| 215,915,000& 215,915
OXZExH| 441,720
oRE 6.,000,000& 6,000
o2& 28,800,000 28,800
oz & 55 78,000,000& 78,000
oA & 65 268,620,000 268,620
ols 45,360,000 45,360
o8g 6,300,000 6,300
ocHALE 8,640,000 8,640
02 JIEtAE = 308,159 275,137
OJlzs 180,111,000& 180, 111
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